K



109] 542
pojH o HalijA 100] HE= &
19] B4 ceceieccscccnnanes 9
29] H A& ciiieeccersccncone 8
39 HA ciiiiiiinennianns 7
42] HA ciiiiiininienens 6
59 H A ciiiieieiiennncnes 5
69O H A ceveirconcnssoces 4

79] HLA civeiaccossvssnsne %)
89 HA ciiieeeerrrnnnnnn. 2

(o X=) [ S 1

ri
N

109 B4 L3
mEE g=Ee. g
2l OfAl =2
I 2o S AL

ﬁﬂ!r_!

................................ EI'-EEEq-E!ﬁHﬂﬂ“JIFﬂﬂE{ﬁ#l?[-mﬁqqﬁ
S ——T T TS 1T

’ LY |

of ME 47t Si@mops
4o 2ROy




{15)

{4)

(14)

(3)

{13}

{11}

(10}

{9)

(8}

(8}

{10}

(9}

-}

{&

(5}

(4}

3

(2}

{1}




(10}
(10}

4
9
1
(20
4
5
5
9

®
1

e
D)

Ml
=
(8)
of
{18}
{8)

he an oM
(&)

(7

(1m
9
-3
2
9
(7}
3
5
9

0
(8)

{15)
2
9
1
2
7
9
1

(B)
(E)

K.
H

{4)

=
{4)
{14

(3)
(=1
(3)

{13}
6
9
4
o
2
1
9

=
=

(2}

I} (02 o 09 08
(2}

=
a Xizjofl 9
11}
9
-2
9
3
L &Y
1)
1
2
9

j’iﬁ

(1)
3
5}
9




7

| 8

® | M | ® | @ |60 | an | a2 | a8 | 08 | 05

o 1| 4| 3| o9 7 3| 1] 4

8| 6| 8| 1| 8| 4| 2| 8| 2| 8

71 8| 1| 8| 1 8| 3| 8| 2
& o yaEe 0188 Hote.

W@ e @] ® | @] o] ® ] @] o

o 1| 9| 7| 6| 8| 1| 4| 5| o9

8| 3| 8| 8| 2 2| 8| 2| 8

3| 8| 1| -5| 8| -6| 8| -2| 8| -7




(10}
(10}

5)
3
8
(20
9
9
5
8

®
2

e
D)

Ml
=
(8)
of
{18}
{8)

n | am |
{7

(7

0
(s)
L
(6)

s
(5)

K.
H

=
{4)
{14

{3}
sEI-

a3 | (g |
{3) {4)

=
=

(2}
(2}

) 02

_$_
a1 Xt2lol 8
(11}
7
3
3
1
&
(1]
3
3
6

y

(1)
9
3
2




{15)

{4)

(14)

(3)

{13}

{11}

(10}

{9)

(8}

(8}

{10}

(9}

-}

{8)

(5}

(4}

3

(2}

{1}




(10}
(10}

1
3
7
(20
9
8
1
7

®
3

e
D)

Ml
=
(8)
of
{18}
{8)

n | am |
{7

(7

0
(s)
L
(6)

(B)
{15)

2
1
7
4

(E)
3
7
2

K.
H

{4)

=
{4)
{14

0
(3)
3=I-
by g e
o
@)

=
=

(2}
(2}

) 02

=
a1 X2l 7
(11}

3

1

7

-3

&
(1]

1

3

7

:’Fﬁ

(1)
9
7
2




rE
| oM AR
wx= eEr

...............................................................................................................

(5} ) (8} 9 (o) {11} | (2 | {13) | (14) | {(15)

{1 | (2 3 @ | 5 & | @M 8 | (9 | (0




(10}
(10}

8
5
1
6

(20
7
6
8
6

{9)
48
(e

)

Ml
=
(8)
of
{18}
{8)

n | am |
{7

A
T
(N

0
(s)
L
(6)

{15)
5}
4
6
5)
6
3
6

(B)
(E)

=
il
HOIR.

{4)

=
{4)
{14

(3)
3=I-

by g e
@)

=
=

(2}

2 ol 6
) wa
9
-5
6
3
A
i)
1
3
6

y

(1)
o
1
3
6




